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1

Integrable classical Hamiltonian systems

1.1 Defining integrability

A Hamiltonian 1d system is comprised of

o A set of fields u®(x,t), a = 1,2,...,m depending on a 1 dimensional

space coordinate x and a time ¢t. The phase space M is the set of points
specifying the configuration of these fields at every given time.

A Poisson bracket between phase space functionals

dFu] 6G[u]
F.G dxd
(.G = [ dndye™ (o) S S
i.e. functionals of the type Flu fdxf Uy Ugy Uggs - - - ). The “matrix
elements” w®(z, y|u) of the P01sson bracket are typically of the form

(x,ylu) = ZP Uy Uy, Uy, - - - )00 O (2 — y)

for local Hamiltonian systems. The Poisson-bracket must satisfy the usual
conditions: be antisymmetric, satisfy the Leibniz rule and the Jacobi iden-
tity.

Example. Frequently encountered Poisson brackets

{u(z),u(y)}1 = 0:0(x — y) (1.1)
{u(@),u(y)}2 = 2(u(®) + u(y))ds + 92)6(x — y) (1.2)
{u®(x),u’(y)} = [f*cul(y) + 1™ 0a)6(x — y) , (1.3)



where N is a symmetric matriz and f*°, are antisymmetric in a,b and
satisfy the Jacobi identities.

e A Hamitonian H[u] = [ dz h(u, uy, sy, - .. ) defining the time evolution
u(z) = {u"(z), H[u]} .
Example. Hamiltonian systems which do not arise from a Lagrangian
mKdV: { -}, Hju] = /dx %(’U4 —02) = v = 6020, + Vs

Kdv: {.,-}2, Hlu|= /dac %uQ — Uy = 6ulUy + Uy

Field theories formulated in terms of a Lagrangian have a canonical momen-
tum, Poisson structure and Hamiltonian. If £ is the Lagrangian density, then
the momentum, Poisson bracket and Hamiltonian are defined by

oL @ = §98(x — . (e
rai= g @m0} = 0 ) Higw = [ de(rugt - £)
The e.o.m. take the usual form
ca, \_ OH[p, 7] ca(g) = _0H[¢, |
¢ (‘T) - (S?TG(I) ’ (LL') (5(]5“(1‘) :

Example. The sine-Gordon field theory is defined by the Lagrangian
m2
ﬁ
The momentum and canonical Poisson structure are

while the Hamiltonian and e.o.m. are

L= 5(0u0)" = 55 (1= cos f9) = 5(0,0)° = 5% + Ffgt + -

1, 5 9 m?
H[¢,W] = dx 5(71— +¢I)+F(1—COSB¢) )
. . m2 .
¢:7T:{W,H[¢,W]}:¢zx_?SIDB¢. (].4)
We shall also use the light cone coordinates
t
T = ;xv aT:at+a£L‘7
t —
o= 2”5, 0y = 0y — Dy . (1.5)
in which the Lagrangian takes the form
m2
L= ¢T¢a - ﬁ(l - COSB¢) )



the Poisson structure is defined by

= ¢ , {¢(U)7 ¢U(0/)} = 6(0 - U/)

and the Hamiltonian structure takes a particularly simple form

m2
HM:/M—ﬂ—mw@,
2

52
¢W:m:wﬂMF=%mw¢

Let us denote by u(z) = {u®(x)} the fields parametrizing the phase space of
a 1d Hamiltonian system. A local integral of motion is a phase space functional
I[u] which is constant in time I = {I, H} = 0 and can be presented in the form

Iu] = /de(x|u,um,um,...) )

where P(x) is a function of v and its derivatives evaluated at x. The density
P will give rise to a local integral of motion if it is the time component of a
conserved current

0 0

—P(z|u,ug,...) = —Q(x|u,ug,...) .

S P(alu ) = = Qlalu, )

Thus, local integrals of motion are naturally associated to conserved currents.
There is no unanimously accepted definition of an integrable Hamiltonian

system. A definition that works well in practical applications generalizes the

concept of Liouville integrability in classical mechanics.

Definition. We shall say that a (local) 1d Hamiltonian system is integrable if
it has infinitely many local integrals of motion in involution.

If one pushes the analogy with classical mechanics even further, then one
must also require that the symplectic form vanishes on the level set specified
by the i.o.m. The lack of preciseness is however irrelevant, because there is no
analog to the Liouville theorem of classical mechanics , i.e. it is not possible to
solve the e.o.m. in a trivial way once the i.0.m. are given. The above definition
must be understood as a practical recipe for identifying integrable systems;
usually, if one can find just a few i.o.m. besides the Hamiltonian, then it is
almost certain that we are dealing with an integrable system. Let us see of few
examples of i.0.m. in non-trivial Hamiltonian systems and get a feeling of how
to search for them.

Example. The mKdV and KdV equations are invariant w.r.t. the rescalings

mKdV : tsaddt, rear, vealv (1.6)

KdV : tead®t, xrerar, uwra lu (1.7)
We now introduce a degree corresponding to this rescaling

mKdV : deg(v) =1, deg(d;) =1



KdV : deg(u) =2, deg(0;) =1

and classify the i.o.m. by this degree. For example, P,(x|v,vz, Vyz,...) 18 a
density of degree 1 if it transform homogeneously under the rescaling (1.7) as

Pi(z|v, v, Vo, - .. ) = a P (2|0, Vg, Vs - - - )
One can easily check using the mKdV e.o.m. that the following expressions
P1 =V (18)
Q3 = 20° + v,y
_ 1,2
PQ = §U
Q1 = 30 + vvg, — 202

_ 10,4 _ .2
P4*Z(v 7ar)

6, ,3 2,2 1 1,2
Q6 = v + V7V — 307V, — 5VVz0x + TV,
_1,6_1,22 23 1,2

Ps = gv° — v g + 50 Vs + 15V50

define conserved currents and charges by
0P =0.Qri2 — L= /dl"Pl-H .

Similarly, the expressions bellow

Q4= 3u? + Upy
P4 = %’U?

3 1,2
Q6 = 2u” + gy — Uy

Ps = gu” — gug
Qs = 3u* + WPugy — 20Ul — FugUaes + S,
define conserved charges of the KdV system I, = [ dx Pyq.

The integrals of motion can be searched systematically by making the most
general ansatz for P, and Qy2, which is compatible with the assigned degree.
One can prove that (m)KdV has a unique non-trivial local integral of motion at
every odd degree l. This set is complete and its elements are in involutions w.r.t.
each other. We shall later use a Lax pair approach to generate these i.o.m. and
especially to prove their involutivity.

Example. Consider the Klein-Gordon equation
(157'0 = 7m2V/(¢)
for a general potential V(¢). This equation is invariant w.r.t. the rescaling

TV ar, o—ac, me—mal, ¢ .



Introducing a grading
deg 0, =degd, =degm =1, deg¢p=0
we can organize the conserved currents by their degree, i.e.

a‘r-Pl(0|¢av ¢007 .. ) = aUQl(U|¢07 ¢007 . . ) 5

where P, and Q; are homogeneous polynomials of degree l. At degree 2 there is
always a conserved current corresponding to the energy-momentum tensor

97 (305) = 05 (—m*V(9)) -
Making the most general ansatz for Ps up to total o-derivatives
a‘r(%(;ﬁ) = ¢¢27¢J'r = _Qﬁv/(d))

we explicitly see that it is not possible to get a conserved current when V #£ 0.
At degree 4, the most general ansatz for Py, up to total o-derivatives, gives

S+ 2000005 ) por = —m” [P2V + 2005005 V"]

Or (305 + ag?,) = (
= 0y (PG 4wV V0 (42)

Thus, a non-trivial integral exists only for the potentials of the form
b _
V(¢) =aeva +be V= + const .

By a rescaling and shift of ¢, this can be brought to the Sine-Gordon

1 — cos B¢ cosh b
Vsa = {1 = c0s fg) 7 ) ; Vsne = —5— > Vi =e .
Higher order conserved currents can be searched in a similar way. Here is what
we get up to degree 6 for the sine-Gordon model

Py =12 (1.10)
Q2 =m?cos p
P4 = 31%s — Poo
Q4= m2<p§ cos ¢
Ps = §95 — 395950 + 5¥0¥000 T §P500
QG = m2 Cos @ (%(pi - %903'0') )

where p = [B¢.

An integrable hierarchy is comprised of

e A phase space M parametrized by some fields u(z) = {u®(z)} endowed
with a Poisson-bracket {-,-}

e Infinitely many integrals of motion {I, }nen in involution {I,,, I} =0



e A time evolution associated to every i.o.m.
0
o u@) ={u(@), Infu]} ,  m=1,2,3,--- .
Oty
The different time evolutions are compatible with each other because

0 0 0 0
ot o M@ g @) = Hul@), Inds I} ={{u(@), I, In} = {u(@), {In, In}} = 0.

Example. The first few equations of the mKdV hierarchy are

0
oz, V(@) = {v(@) bolu]} = 0

0

oty (z) = {v(z), [1[v]} = va

%U(x) = —2{v(x), I3[v]} = Vewe + 60%v,
0

—(z) = {v(z), Is[v]} = 0, (v5 + %vvi + %v%m + %vmm)
The mKdV, KdV and sine-Gordon hierarchies can be identified by setting
u=1%+iv, , V=10, . (1.11)

The v — u map is called the Miura transformation. It maps a solution of mKdV
to KdV
Uy — (U + 6uzu) = (20 +90,) [V — (Vere + 6V20,)] .

The map ¢ — v does not send sine-Gordon solutions to mKdV solutions. The
identification is at the level of i.o.m.

/del’”KdV(a:) x /deleV(x) x /delSG(sc) .

Moreover, the Poisson bracket of ¢ induces the Poisson brackets of v and u (up
to an overall proportionality constant).

1.2 Classical sine-Gordon model

In this section we shall discuss certain remarkable particle like solutions char-
acteristic of non-linear wave equations. These are called solitons or solitary
traveling waves: a soliton is a wave which is localized in space and preserves its
shape over time.

Although we shall concentrate our discussion solely on the sine-Gordon
model (1.4), let us mention that there are many other integrable Hamiltonian
system whit solitonic solutions. Let us just mention the famous KdV soliton

2X2

cosh? x(z + 4x2t)

u(z,t) =



1.2.1 One soliton solutions

In order to find the sine-Gordon soliton solutions, one can first search for static
solution ¢(z,t) = ¢(x) and then perform a boost

xr — vt
V1—v2

in order to get a propagating solution. Thus, we are looking for the solutions of

T —

2

m
¢// = —-sin ﬁ¢ )
B
subject to the b.c.
¢z (£o0) =0, (1.12)

which is a consequence of the localization property of the soliton. But this is
the e.o.m. of the classical mechanical system

h= 162 + 2 (cos B — 1)
—_— ———
U(o)

which describes the motion of a particle in a periodic potential U(¢). The
boundary condition for ¢(x) is equivalent to the requirement that the particle
approaches one of the maximums of the potential U(¢) at “time” x — oo, i.e.

Bp(L£oo) € 27Z . (1.13)

With the b.c. (1.12, 1.13) we can easily evaluate the total energy h of the solution
at  — oo

h= [%qﬁi + ?—j(cosﬂgﬁ - 1)} i = 0.
Hence
xf:ro::i:/L:j:i ﬂ:iilogtan@.
Vh —2U(¢) m ) 2sin 2 m 4

Inverting the dependence of x on ¢ and boosting it we get the desired soliton
and anti-soliton solutions

4 4
os(x,t) = Btauf1 ey (z—vt=zo) os(x,t) = Btaun*1 e~ ymlz—vt—z0) (1.14)

where v = 1/v/1 —v2. In order to compute the dispersion relation of this
solution we need the energy momentum tensor

oL

TNV = aﬂqﬁéa (b

—ouL .

The energy and momentum of a classical solution ¢(z,t) are the defined by
i ) m2
H[¢7¢] = /dI2T00 :/dl‘z |:%¢2+§¢§+

62 (1 _C086¢) )

Plovd) = [doTon = - [ 2o,



Computing the dispersion relation of the soliton solution we get
M

V1=’

P[¢S] = —/dit atqssa:r(bs =

H[d)s] -
Mv

VI—2'

which coincides with that of a relativistic particle of mass

8m

2

We recall that the dispersion relation of a relativistic massive particle takes a

simpler form

M =M, = M; =

E = Mcosh@ , P = Msinh§ .

in terms of the rapidity 6 defined by v = sinhf. Notice that the antisoliton
solution can be obtained from the soliton solution by the transformation

0 0+im .

As we have seen, the solitons of the Sine-Gordon model interpolate between
distinct minimums of the potential V(¢). In fact, solitonic solution exist also
for non-integrable models like the ¢* field theory

A m2\ >
£=300r -V,  vie=7(#-")
The soliton and anti-soliton interpolating between the two minima ¢4 = +m/ VA
can be computed similarly
bu(,8) = T tanh XTUEZVE = T0) ba(,t) = — T tanp LT =Vt = T0)

VA V2 ’ 2 V2

Integrability manifest itself not in the existence of solitonic solutions, but in
their interaction properties. To study these properties one needs multisolitonic
solutions. By definition, these are classical solutions which at ¢ — —oo can
be approximated by a superposition of well separated 1-soliton solutions. The
question we are asking is: how do the multisolitonic solutions of integrable
systems differ from those of non-integrable systems after the scattering has
taken place, i.e. at t — c0?

1.2.2 Multisoliton solutions

In the sine-Gordon model the simplest way to generate multisolitonic solutions
is via the Backlund transformation

Do — Dror + 2”5“7 sin2 (61 + 62)
Doy = —0o 1 + M sin L (91 — o) (1.15)

pn 2
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Figure 1: The two possibilities to perform the Backlund transformations of a
solution w with spectral parameters 5; and Ss.

©

which maps a solution ¢, to another solution ¢o. This can be sean by acting
with 0, on the first equation and then using the second one to evaluate it

2
050- (2 — P1) = mﬁcosg(% + ¢2) 0o (1 + ¢2) = 2% Cosg(% + ¢2) X
2
% sin g(qﬁl — o) = %(sinﬂqﬁl — sin Be) .

Multisoliton solutions are generated by acting with the Backlung transformation
interatively on the trivial solution ¢ = 0. Thus, the 1-soliton solution can be
recovered by setting ¢; = 0 in eq. (1.15) and integrating

2
N 0rdy = —nOs2 = Fm sin% .

The most general solution is

4
¢o = —tan " lexpm (n_lr —no — xo) ,

B

where z( is a constant of integration. If we set 7 = € and recall the definition
of light cone coordinates (1.5) we recover the soliton solution (1.14)

4
¢s = 3 tan~! exp (x cosh @ — ¢tsinh @ — x) . (1.16)

We can generate 2-soliton solutions by inserting instead of ¢; in eq. (1.15) the
one soliton solution ¢4 and then integrating the differential equation for ¢,.
However, this last step is not completely trivial. In fact, there is a more elegant,
purely algebraic way to generate multi-soliton solutions due to Bianchi.
Consider a classical solution ¢ of the sine-Gordon equation. We can generate
two new solutions ¢; and ¢o by integrating the Backlund transformation of
¢ with spectral parameter 7, and, respectively, 1. If we now integrate the
Backlund transformation of ¢ with spectral parameter 7, then we get a solution
¢12. Similarly, we denote by ¢o; the Backlund transformation of ¢o with spectral
parameter 1;. We have represented these procedures by the diagram in fig. 1. In
general, the solutions ¢12 and ¢9; will depend not only on n; and 72, but also on
some integration constants. Therefore, in general they ¢15 # ¢21. However, we
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| M@%

Figure 2: A commutative Bianchi diagram.

can ask the following question: is it possible to chose the integration constants
in such a way that

P12 = P21 = 7

The answer is yes! This is the Bianchi’s permutability theorem, illustrated
in fig. 2. To prove the theorem notice that if the solution ® exists, then the
commutativity of the Backlund transformations requires that

Or¢r2 = Or g1 + 217;7]2 sin g(q’ +¢1) = 0-0 + 277;771 sin §(¢ + 1)+
+ 277;172 sin g(‘b +¢1)
0rm = 0ra + 25 sin (@4 62) = 0,6+ 2 sin (6 -+ )+
2
+ 77;771 sin g(q) + (bg) . (1.17)

Subtracting the two equations we get
7 [sin §(¢ + ¢1) — sin g(q) + ¢2)] =12 [Sin §(¢ + ¢2) — sin g(‘I’ + ¢1)} .

One of the solutions is given by

M+ 12
m — 72

<I>=¢+§tanl{

To finish the proof of the theorem one simply checks that the above expression
satisfies eqs. (1.17) together with

tan g(qx - ¢2)} . (1.18)

Do = —Opy + 22% sin §(¢1 — ) = 0,6 — 7271% sin g(qb — 1)+
+ 272772 sin §(¢>1 —9),

o1 = —Oops + 21—”; sin g(@ — ) = 0,0 — 22—"; sin g(qﬁ — o)+
2";771 sin g(qﬁg — 1)

10



0

Setting in eq. (1.18) ¢ =0, 1 = €%, ms = e~? and

¢; = %tanflexpm (ni_lT — 771‘0) )

we get the soliton anti-soliton solution in the center of mass frame

_1 sinhm~yvt

bus(,t) = — = tan (1.19)

Jé; vecoshmyzx
On the other hand, for ¢ = 0, g1 = €%, 7o = —e~? we get the soliton-soliton
solution in the center of mass frame

4 1 vsinhmyz

x,t) = —tan™ ————— .
Gso(@:?) 15} cosh m~yvt

Let us consider the s§ solution in more detail. At asymptotic times we have a
superposition of a soliton and an anti-soliton

- %tanfl efm'y[quv(tht)] + 4 tan—! em’y[mfv(tht)] , t— —00
¢s§($7 ) = %tan_l efm'y[z+v(t+At)] + %tan_l em'y[zfv(tJrAt)] .t +oo )
where
At — _logv
myv

is essentially (half) the phase shift of the soliton and anti-soliton waves after
the scattering. The striking property of this solutions is that at both t — +oo
it can be approximated by the same superposition s 4+ 5. This means that the
scattering of solitons with antisolitons does not change their asymptotic shapes.
In particular, notice that s+ 5 — s+ § is the only scattering process of a soliton
with an anti-soliton!

The energy and momentum of the ss solution in the center of mass frame is

E[¢ss] =2M cosh , Ploss] =0 .

If we treat v in eq. (1.19) as a formal variable, then we can generate a new
solution localized in the neighborhood of = 0 by setting v = itand, € R
sinh(tm sin¥y)

4
t) = —— tan~! :
bu(,t) 3 an tan 9y, cosh(zm cos )

The above solution is called a breather. Its energy
E[¢b] = 2M cos 19() < 2M
suggests that it is an ss bound state.

The general n soliton solution obtained by iterating n times the Backlund

transformation with parameters 1, = €% ,...,n, = e’ has additive energy and

momentum

E = ZMcoshGi , P= ZMsinhei .
The higher spin charges are also additive. Let us consider the degree 3 charges

I = /dw (105 — @2, —mPpl cosg]

11



I = /dx (397 — @2, — m?¢] cos ]

arising from the conserved current (1.10). Evaluating them on the solitonic
solution (1.16) we get

16m3e3? 16m3e=3%
Io‘ = —— IT =
710 = =5 Tl = ="
In general, higher spin charges of multisolitonic solutions have the form
IF oy el (1.20)

Thus, the conservation of all these charges during the scattering process pro-
hibits soliton creation or annihilation. Moreover, the set of incoming rapidities
must be a permutation of the set of outgoing rapidities.

Let us summarize the results we got for the classical sine-Gordon model.
The sine-Gordon field ¢ does not correspond to a massive particle of the the-
ory. The actual particles are the soliton and anti-soliton of mass M = 8m/3?
together with the continuous spectrum of soliton-antisoliton bound states of
mass 2M cos §,. The presence of an infinite number of conservation laws (1.20)
prohibits particle creation and requires that the set of outgoing rapidities is a
permutation of the set of incoming rapidities. The only effect of the interaction
is to change the internal phases of the waves carrying the solitonic particles. We
shall see that many of these properties persist in the quantum theory.

1.3 Zero curvature representation

Our definition of a classical integrable system requires not only the existence
of an infinite number of i.0.m., but also that they are in involution w.r.t. each
other. The modern method to prove involutivity starts with the rewriting of
the e.o.m. as the consistency condition

[0: —U,0, = V] =0, U—-0,V+[U,V]=0 (1.21)
of an overdetermined system of linear equations
WV (z, t|N) = Uz, t|\)U(z, t|N) , 0V (z,t|\) = V(z, t)\)U(z, t|N) . (1.22)

The rewriting of e.o.m. in the form (1.21) is called the zero curvature represen-
tation, while the linear system (1.22) is called the auziliary problem.

Suppose that x lives on a circle of radius 1. The monodromy of ¥(z,t)
around the spacial circle

V(27 t|A) = T(N)W(0,t|N) (1.23)
can be computed as a path ordered integral

T(\) = Pexp /O27T dx V(z,t|A) . (1.24)

This is an important quantity that can be used to generate i.o.m. Indeed, the
evolution of T'(¢) is described by the following equation

27 2 T
T\ = / dx <P exp/ dy V> 1% (77 exp/ dy V>
0 T 0

12



:/02de (Pexp/:wdyV> (0.1 + [0, V]) (Pexp/omdyV)
- ng dz 8, KPeXp/:r dyV) U (Pexp[ dyvﬂ = [U@2m, t|\), T(N)] .

Therefore, the trace of the monodromy matrix
t(A) =trT(N)

called transfer matriz, is a conserved quantity. Upon expanding in X it generates
infinitely many i.o.m. We shall see in a moment around which point to perform
the expansion in order to get local i.o.m.

Example. The KdV equation can be represented as the zero curvature condition
of the connexion

B —Uy 4N+ 2u _ 0 1
U(4)\2—2)\u—um—2u2 Uy > , V= ()\—u 0) ' (1.25)

Explicitly, eq. (1.21) reads

0 0
Example. The zero curvature representation for sine-Gordon is

ipr im — i 1P imA
un .- ¥ es
— 4 2\ — 4 2
U= <me§’ N on ) , V= (ime_lg i ) : (1.26)
2\ 4 2 4

where we recall that ¢ = Bo.

Now, the crucial ingredient to get i.o.m. in involution is to assume the ex-
istence of a “good” Poisson bracket. Suppose that the Poisson bracket of the
dynamical fields of the model are such that the Poisson bracket of the V' matrix
elements can be written in the form

{Vi(z[A), Va(y[N)} = 6(z — y)[r12(A, ), Vi(z[A) + Va(z[A)] (1.27)

where V; =V ® I, Vo =1 ® V. This type of Poisson brackets are called ultra-
local.’ The matrix r12 which acts on the tensor product ¥ @ ¥ is called the
classical r-matriz. We assume it to be independent of z, y. Eq. (1.27) implies
the following Poisson brackets for the monodromy matrix

{1 (N), To(p)} = [ri2(As ), Ti (A Ta(p)] (1.28)

which is called the Sklyanin bracket. The proof is computational. We first write

(B Ta) = [ do [yt Ty ) o)
(1.29)

1Ultra-local classical Hamiltonian system are important because there is a standard way
to quantize them.

13



The variation of the monodromy is
27
ST(\) = / da (Pef.f" sz(ZW) SV (x| \) (Pefﬂz sz(ZW) .
0
Introducing the transport matrix

y
T(x,y|\) = Pexp/ dzV (z|\)
we can write
0T ()
OVap(x|N)

Hence, we can rewrite eq. (1.29) in tensor like notations as

= Tia(2m, 2[A) Ty (2, 0[A) .

2
{Tl(A)vT2(/~L)}:/O dadyTy (2m, 2| \)To (27, y|p){Vi(x[A), Va(ylp) } 1 (2, 0[A) Ta(y, Olp) -

Using the Poisson brackets (1.27) and eliminating V' via the equations
0:T(x,0|\) = V(z|\)T'(z,0|N) , 0. T(2m, x| \) = =T'(2m, z|\)V (z|\)

we arrive at the desired result

27
{Tl(A)aTz(M)}Z/O dz0, [T1(27, x)T2(27, x)r12(A, ) T1 (2, 0)To(w, 0)]
= [ri2(A\ 1), Ti (M) T2(p)] -

This implies the involution of transfer matrices

{t(A), t(w)} =0

Example. Due to the presence of derivatives of the §-function in the KdV
Poisson bracket (1.2), the matriz elements of V(x|\) cannot satisfy (1.27). This
problem does not occur in the sine-Gordon model. In this case, the classical -
matrix exists and is given by

0 0 0 0

_ 1 0 N +p2 =2\ 0
’I“(/\a,u) - _8(>\2 o /1*2) 0 _2)‘/1' )\2 +M2 0
0 0 0 0

Notice that r(\, p) depends only on the ratio A/ .

Notice that the existence of a classical r-matrix is not guaranteed a pri-
ori, because the Jacobi identity for the Sklyanin bracket requires a non-trivial
consistency condition to hold

[r13(A, ), 23 (i, V)] + [r12(A, 1), m13(A, ) + 723 (p, v)] = 0 .

This equation is called the classical Yang-Baxter equation.

14



1.4 Generating integrals of motion

In this section we would like to illustrate on the example of the sine-Gordon
model how to use the zero curvature representation in order to generate infinitely
many local i.o.m. This will prove the integrability of the model according to
the definition given in sec. 1.1. The involutivity of i.o.m. is guaranteed by the
existence of a classical r-matrix. We shall see that the sine-Gordon model has
local as well as non-local i.o.m.

In order to simplify the calculation of the monodromy (1.24), let us perform
a gauge transformation on V

90, —V)g ' =0,-VI = VIi=g,g ' +gVg .

The gauge transformed monodromy matrix can be computed as the unique
solution of the equation

T4 (0,0|X) = VI(a|\)T9(0,0[N)
with the initial condition 79(0,0|\) = I. An explicit calculation shows that
T9(0,0[A) = g(0)T(0,0[A\)g ™" (0)

is a solution. The periodicity of g(o) then implies that the transfer matrix is
gauge invariant

The gauge transformation

brings the matrix V for the sine-Gordon model (1.26) to a simpler form

ip
v9=g<;2 %), ¢ =imh.

From the formula
o0 2m o1 On—1

Wm:Z/cM/d@m/ o VI(01|\) -+ V(o1 NV (0] A)
—Jo 0 0

we get the desired Taylor expansion of the transfer matrix around A =0
o C 2n
t(\) = = Jon
W=3(5) »

where Jo,, are non-local i.o.m. explicitly given by

27 O2n—1 2n
Jon :/ dal.../ doon2 cos lZw(Uk)(—l)k]
0 0

k=1

In general, an expansion of the transfer matrix around a regular point of V9(c|A)
will produce non-local i.o.m.
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We shall drop the index g in the following. To generate local i.0.m. we should
carry out a Laurent expansion around a pole of V(g|\), in this case A = co. We
do this by first solving the auxiliary linear problem

U, (0]A) = V(o] \)T(o]A) . (1.30)

Once the solution ¥ is known, we can compute 7'(\) with the help of eq. (1.23).
In terms of the components ¥ = (v,9)¢, eq. (1.30) reads

. ¢ .
b = 590, o= ZeT
or, equivalently,

¢ . .2
Yoo — 1PoVe — Zw =0, Yoo +ipsths — ZQ/} =0. (1'31)
Let us rewrite these equations in terms of the logarithmic derivatives p = 1, /v
and = 1, /) as
42 2
Po+ P’ —ipep— 2 =0, o+ P +ipep— 2 =0 (1.32)
Notice that p can be obtained from p by changing ¢, — —¢,. From eq. (1.32)
it follows that p has a Laurent expansion around ¢ = oo of the following form
( , x~Pn
2 n=0 C
The coefficient functions p, can be determined recursively by plugging this
expansion in eq. (1.32). The two sign choices correspond to the two linearly
independent solution of (1.31). Let us choose the + sign in the following. Then
p is uniquely determined by the following recurrence relations

ips
2
P1 Zpg—pf)

po = (1.33)

n—1
Pnt1 =Py — > PkPn—k »
k=1

where n > 1 and primes denote o-derivatives. Notice that all the p,, with n > 1
depend solely on p; and its derivatives. The first few terms are

p2 = —p} (1.34)
ps = —ph —pi = pi —pi

pa = —ph — 2p1p2 = (—pY + 2p7)’

ps = —py — 5 — 2p1ps = (0] —3p7)" + 7 —2p} et

It is possible to prove that py, are total derivatives.
Returning to the original variables ¢, 19, we can write

g

B(0]A) = 1 (0]A) exp / T dop(ol) . B(ol) = G2 (01) exp / dop(o|) |
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which immediately gives the monodromy

f2” dop(o|X) 0
elo
T(\) = ( 0 ef(?"daﬁ(alx\)> : (1.35)

Now, because the eigenvalues of the monodromy are constants of motion, we
see that the arguments of the exponentials in eq. (1.35)

2 I2n+1 SOO'
dop(o|\) = C7r+z it
0

generate local intergrals of motion

Lonialps] = /0 " ponia(0) (1.36)

The integrals of motion generated from p are not algebraically independent
because of the relation pp = %. Evaluating the first few local integrals (1.36)
with the help of egs. (1.34) we recover the conserved charges (1.10) (up to a
proportionality coefficient).

Moreover, notice that the first two terms in eq. (1.33) establish the connec-
tion of sine-Gordon with mKdV via the identification pg = tv and KdV via the
identification p; = —(v? 4 iv) = —u defined in eq. (1.11). Thus, we explicitly
see that the conserved charges (1.36) agree with the mKdV charges (1.8) if we
express the former in terms of v and with (1.9) if we express them in terms of .
In fact, this relation indirectly proves the involutivity of the mKdV and KdV
i.0.m., which can not be proved directly with the techniques of sec. 1.3 due to
non ultra-locality issues.
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